1. Four pairs of initial and final positions of a
~ body along an x axis are given. Which pair
gives a positive displacment of the body?
@ ~-10m,+15m  (b)-5m,~12m
(©) Zm,-—Sm' S (d) Zm, lm |
| | ol (March 2020)
Ans: (a) o |
2. Position (x) — tnme (t) graphs of twa objects A
~and B are shown below At what tlme the ob-

jects meet? ' Tt (March 2019)
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3. Draw the pasumn tlme graph of a st'ltmnary -
object. - A | (First Term 2019-°20)
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3 mark questions

4. Position - time graph of a body is given.,
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(a) Estimate the veloc1ty durmg the tlme mterva]
t=2sto t=3s.

(b) Displacement of an obJect is proportlonal to t2,
Show that its acceleration s mcreasmg with time,

 (Model 2015)

(a) Velocity durmg the time interval

t=2stot=3s "

dx _ x,—x, _ 30-10 _ -

a1t 3—p 20mfs
(b) Displacement x o or x =k’

Velocity of the body v = ‘:t‘ (kt3) 3ke2
_Aeceleration =a= dv_ (3kt2) 3k x 2 X t— 6kt

dt
Here 6 and k-are constants -
acceleratlon a o< toras ‘t’increases ‘a’ increases
5. Velocity is deﬁned as the rate of ehange of dls-
placement.

(2) Distinguish between aver age veloclty and mstan-
taneous velocity.

(b) When does the average veloclty become equal to
the instantaneous velocity? >

(c) A car travels from A to B at 60 km/hr and returns
to A at 90 km/hr. What is its aver‘nge velocity and =
average speed? o _ (SAY 2014)

(a) Average velocity i 1s the ratio of total d1sp1acement to
total time taken. Instantaneous velocity i is velocity

+ of the particle at any instant of tlme
(b) Uniform velocity

(c). Average velocity = zero |

L2y, 2><60><90 o
| = S = =72 km/hr. .
Average speed 4v; o G0so0 2N .




